) AVEIN

ABAHTIIMOL

UTILITY BEhGH

Maykocg MNUPvVaoTIKAG
(Odnyiec Zuvappohdynong | Assembly Instructions)

Odnyoég

Assembly
OuvapuoAdynong instructions
OoTn ogAida 2 on page 4

[E¥emm MdaBe nepioodtepa
SRS vig Tov Ndyko

";‘t;q? okavdpovTtag 1o QR

Learn more about @
the bench by
scanning the QR @amila.gr AMILASPORTS

ITEM NO.: 44244 www.amiL3.9r



ANAAYTIKO ZXEAIATPAMMA XYNAPMOAOIHZHZ

AIZTA EEAPTHMATQN

# | TMX MEPIrPA®OH # | TMX MEPIrPA®H
1 1 Kupiw¢ oKeNETOC 16 1 Meipog
2 1 |Eumpdc Baon 17| 4 |Bida M6x16
3 1 [MNiow Bdon 18| 4 |Bida M6x40
41 2 |XZwhivegotripléng mAdtng 19 [ 3 |Bida M8x20
5 1 |Aovac puBuiotn) TAATNG 20| 2 [Biba M8x45
6 1 | Ztiptypa modiwv 21 1 |Biéa M9x90
7 1 MAGTN 22 1 Bida M10x140
8 1 |KaBiopa 23| 8 [Podéla6
9 2 |Appwdn mpooTaTeuTIKA 24| 7 [Po&éla 8
10| 2 |Epmpocgkamdkia 25 2 |Kuptn podéla 8
11 2 | Miow kamdkia 26 2 |PobéNa 10
12 2 |Tpoxoi 27 3 |MNa&uadl acpalsiog M8
13| 4 |Tetpdywvo kamdki 28 1 |Na&padt acpaieiag M10
14| 2 | KukA\ikd Kamdkl 29 1 |Mdéuoho
15 1 |OBAN kamakL




2YNAPMOAOTHZH

Mptv EekvioeTe, amAwoTe OAA Ta €APTAMATA OTO TTATWLA, KATIOU TTOU Va £XETE ATIAETO XWpo. E€ol-
KelwOeite pe Ta e€aptApaTa Kal Tn cuvapuoAdynon Staalovtag mPOoCeKTIKA TIC 0dnYiEC.

Briua 1

1) ZuvdéoTte TouC TpO-
¥oUG (12) otnv miow
Bdon (3) pe Bideg
(20), podéhec (24)
kal ma&ipddia (27).

2) TomoBeTtrioTe TA
miow kamdkia (11)
otnv miow Bdon (3)
Kal ouvééoTte TNV
miow Bdon oTov Ku-
piwg okeAeTo (1) ue
Bidec (19), podéla
(24) kal KUPTEG pO- ¢
&éNec (25).

3)TomoBeTAoTe TA
EUTTPOC Kamdaklia
(10) otnv eumpog
Baon (2) kat cuvdéoTe TNV UMPOC Baon oTov KUPiwe oKeAETO (1) pe Bida (21), podéAec (24), maél-
padt (27) kai meipo (16).

4) Yuvbéate To oTrPLypa TTOSIWVY (6) OTNV EUMPOC BdAon (2) pe To MOPoAo (29).

5) NMepdote appwdn MPOoTATEVTIKA (9) o€ KABe MAcupd Tou opt{dvTiou d€ova Tou oTNPiYUATOC TTO-
Slwv (6).

Briua 2

1) Zuvdéote Tov afova pubuIoTA MAATNCG (5) oTOUC
OwARveC otAPIENG TMAATNG (4). 7

2) Zuvdéote TOUC OWANVEC oTPIENG TTAATNG (4)
OTOV KUpPIiw¢ oKeAeTO (1) pe Bida (22), podélec
(26) kat maiuad (28).

3) YuvbéoTe TO KABIOUA (8) OTOV KUPIWC OKEANETO
(1) pe Bidec (17) kat podéNeg (23).

4) Ztepewaote TNV MAATN (7) OTOUC CWANVEC OTEPE-
WOoNG NG (4) pe Pideg (18) kat podéheg (23).




ASSEMBLY DIAGRAM

9
PARTS LIST

# | PCS DESCRIPTION # | PCS DESCRIPTION

1 1 Main frame 16 1 Pin

2 1 Front base 17 4 |Bolt M6x16

3 1 Rear base 18 4 | Bolt M6x40

4 2 |Backrest beam 19 3 | Bolt M8x20

5 1 [Adjustment support 20 2 |Bolt M8x45

6 1 |Leg holder 21 1 |Bolt M9x90

7 1 Backrest cushion 22 1 Bolt M10x140

8 1 |Seat 23 8 |[Washer 6

9 2 |Foam rollers 24 7 |Washer 8
10 [ 2 |Frontend-caps 25| 2 [Curved washer8
11 2 |Rear end-caps 26 | 2 [Washer10
12 2 |Wheels 27 3 |Lock nut M8
13 4 |Square plug 28 1 |Lock nut M10
14| 2 |Round plug 29 | 1 [Plastic head bolt
15 1 |Oval plug




ASSEMBLY INSTRUCTIONS

Before you begin, place all parts on the floor, somewhere with lots of space, and get aquainted with
them and the procedure by reading the instructions.

Step 1

1) Connect the wheels
(12) to the rear base
(3) using bolts (20),
washers (24) and
lock nuts (27).

2) Place the rear caps
(11) ontherearbase
(3) and connect the
rear base (3) to the
main frame (1) with
bolts (19), wash-
er (24) and curved
washers (25). 9

3) Place the front caps
(10) on the front
base (2) and con-
nect the front base
(2) to the main frame (1) with a bolt (21), washers (24), lock Nut (27) and pin (16).

4) Attach the leg holder (6) to the front base (2) with plastic head bolt (29).

5) Place foam rollers (9) on each side of the leg holder (6).

Step 2

1) Attach the adjustment support (5) to the back-
rest beams (4). 7

2) Attach the backrest beams (4) to the main frame
(1) using bolt (22), washers (26) and lock nut (28).

3) Attach the seat (8) to the main frame (1) using
four bolts (17) and four washers (23).

4) Attach the backrest cushion (7) to the backrest
beams (4) using four bolts (18) and four washers
(23).




ELDICO ER{;
sport

Aiavéperal ané tnv EAAIKO ZIMOP MON. A.E.E.

Distributed by ELDICO SPORT SA

eMail: support@eldico.gr ¢ Web Site: eldico.gr




